ME 552
AJVanceo( Dyrmm" Co

Summef ZO [O
Homework #3



/}ssumF%im: 1) Spring s nevergch com/;rggwf P 2Zero

fea 31% U

cos 6, :f;"_V
IPA, |

' = 7 ' 4 —
Sinfsz= —/-—L/— —p-x— A [PA4] /m/
= [PAs]=\te>%+ 7%

Force (E = k{iPil-2) (ot i5in0.d)
E, = k(| =2)- [-sinb i 4058,

_Eg: K ﬁ@"’ﬂ) '[60595_é ”55”93_J)‘
E:k.[/m;/—)e) -(sin by i ~(0504 J )

a7 :kﬁ@%){(emﬁw )( " z+xJ2+~r2 !)'Q]
5 :k/x/xfw - | c*//é’—ﬁ’)/*—;\f‘m\—v—- ) ]

‘Fszk/( (m?% ) m.;ayz }]

c :k[)(/m )c + ([ ‘r,-‘ mﬂ)z q/)“i/

!




Equm[ions of motior]

mi = 2Fw

7”9 = ‘Z_Fg

el d/)
m[“x)[\}ﬂx)%w' kX/\/ Zr(0-Y)*

*k(X”ﬁ)(JE%WT - )+kx(m§[—,@§f? _/>

3’_’[ /mwz ' )”(/ dﬂ)/\fm”j)]

i a T A
”“(m:wz ’)”W*”/fmﬁ“/)]




V= R+(8)y + Wx e

e Qri_f’{i*(ﬁ"'),e,+7wx{§)m,+g§)x§+gy/_u;x,g)
e P=xityj+zK
L Ok =k LGy +2k
SY (DRt §IrEA
Ands W =l ¢ = (1(~tos) i +sin l_@)
Lo wx e A~os) i +sm,1_&)x{;b_£_+g_4' 12 £)
r_ﬂ_zlgs'inli +(2 tos 27 Zosird );/ -y cosL K]
Wx /_@x_g):_QZZ:g;nl{E rosA42sin ) ~Yu ‘&Ul/?fosfz *fo'f?-lki]
2Wx ), o = 2(-Ncos) i + Nsink &)X (% L4gJ+ 3 4)
_ 20 ok i 4 fheasd s o) ~geos K]
_‘f’x_ero ; RS ltonstant w.r. & %U?)U.-
R=-wxR
_@ :_('—UXE;’(_E) :ﬂzR[-fos,QSinli -(052/1_’@)
gp:_Q?R{'(o{l,;inlj_'(as?/lﬁ)* %0+ §a+ 2K
+2ﬂ[—gs‘mlif (2 s+ ’i;sinl)g - §eosk _/SJ
/,_,,__i_a_f[-:sinﬂ,[ifwﬂ*Z.ﬁinﬂj," -y J —505;{(%6031*755#:2)_@]

Since c/o&e ‘;0 eam‘ln's 5ur1’lace) ﬂ7%<<ﬂzR
=) ()= 7.29¢1v5 rad/sec

TI’IU‘S __0_2 T ﬁ€9r€c‘ﬁ'€’J 1/77
L | - '
Tos M ei® e SO
/apfzazgzg\)w\j@ s e 2y

Sl e ay %




() ’DamLfcle with o fore F and pull of gravity
F, =may =F-mli-20gsin%)=0
fy = may 5 F - mljs2aliset+3es2)) =0
Z Jig g‘+z.rz[7assn1+z'cﬂ,)’7
fg-my=maz < Fe - m/é'—Zﬂgwsl) -mg = 0
-—,%— = 220 cos A +g,/

(i Fam‘;c/e is in free n[]/ighf' 7 acted upon on{y by g,mw'%y g air drag

(F:-—[C'm)\/} =(ConT :
Fy=-(em)% g nysiaktci =0

F =l m)y = ww@sm@cow?@ |
Fy e (e m)E |E LS FEHG =0




QOUXLQ *2L(JJ)((U°_(;-_I‘./E/‘«H6_(_):>‘:“WV0£

U

[ S e
[8=-4 2Psint & 20 wlek)




Kot | o
N rioé(cgffﬁ@
al, /7
e :
= (smgg)”‘ﬁ =i<p Q/

sM,=0: PLesp -Fx=0
Puos f — Freet #=0

e ,Er’:q—smd)

X ZP{\ sii*@ -9 p=30°
h

/.°. = —&&*9

<mnr

m A f\a e
i 4 el ’5! (d b 0/n?1Ng in
frictional forces between Them. The Lriction ce wopuld D€ /0 19

Offfé’cféan 0')[\ J%( mo‘/ff’h. /
%4 e
O o $2f_€ 5’m2¢‘"5 70/ The frickion force Wam/a( be ad o{

‘ mr : . ey
in the nfga/ﬂ/e A diahon & decrease e acelewation of Mg up s

@ a:ﬂsfﬂ%'g (Ol the Ariction Porce b(/w/ﬁ(faﬁ’?f
f;(r mﬁmy fhe AM &[ a/Ccrmfe /ée Cl[(g/era, 7 on -

Me oWosi?le

b(f)wa




